TEMtE GHEERRE) (D) 11, 840, 000
PR (HEBER &) 9, 420, 000
ARLFAE BAETHHEFLS X (NEX) )
. & T3 OFREE B A RO MER GRS FLK Y B I51:Z4 PRS2 THEHIRGHRE K4 ME R A
X AL #AT B
2. FIBREBIT  BCRY A TG
DA B4 RS LT HEREFRERE L e FEE K4 BE wmEL [
3. AMLHB  FR304F 44 5H 118005
s %10 %20 # 3 lal
ESEd &” LAt %1 fili a5 (C) A i ALt %1 fii# 5. (C) A i AFLATRE %1 fiik 5. (C) FEAfE i 2
(B) 30 {1-(B)/ (D)) 1) + (€ (B) 30X {1-(B)/ (D)} 1) + (€ (B) 30X {1-(B)/ (D)} ) + (©
Sy e _ _ _ _ _ _ % #
(BR) R BT IERT 49 11, 800, 000 0.1013 49.1013 (ER30% 4H128)

X ERIARIX, AMLEN AR L > RO EEFED 1 085D 1 0 0ITHYTHE8HTH D,

11



- - TR EHMEOAER G

I ONE

s [T 3

Tl 3% 4L A =)

EREE (BfE)

TR EE EITHE SR AT
EXBIF(E)

_ EEEITE mERAE| _ Biif s
w ) |y 2% © | me | R G
R LA one I P , — BETD leiarel =i | S0 sepp | SLER )|\ U

| exEEE SRR | Bt e . - . BT ha | T D) |MEH(E)=

%f%%%ﬁ%f%&ﬁ%(@%ﬁg&@ 3309 (mgf;%%% 0)}%;%%% WELTE B (TR RS ({52_%;530) Bk E (C)x (D)
2 4 2 2 - - -2) 10 3 3 10 2 2 20 - 15 15 — 30 || 1.00 30 60
BRI R AT (R 2 3 2 1 — — 0 8 3 3 6 - 2 14 - 15 12 - 27 1.00 27 49






